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(3)ERETAMEHESN FV FV=1/2xFH= 2.99 kN

(D) Toh-KWDIREH-YDEIRN :Rb

Rb={FH-hG—(W—FV)-IG} “{I'nt}=[____ 1.1 |kN

B)TUh—K MDIRA-YICERTHEAMA :Q

Q=FH/n=[__ 100 |kN

(6)TUh—KWMZET B HE

D5I-8RYIGHE o U=Rb/A=| 0.99 |kN/cm2
o=[__ 099 | <ft=[_ 176 |kN/om’
QEAMBHE T T=Q/A=| 088  |kN/cm’

r=| 08 | <fs=[ 101 [|kN/cm’

@3I2RYEFAMERFFIZZITHEE
fts=14f—16T=[ 232  |kN/cm?

o=[__099 | <fts=[ 232  |kN/cm’
(7)TERER A ERET - Iigst | Q014FER— M EEABAREBE L 4—)DFR1EY

O7Uh-KWMELZE = miREXIN, JARBRUAN R LMTE |
@avy)-tEE=[__ 180 |mm =|_ 018 |m
QR M DEDHAH RS
L=[_ 128 |mm =[_ 0128 |m
@ ASIEhETE Ta= 5.6 kN

Ta=[ 56 JkN>Ro=[ 11 kN
UEDEEXY, TU—FK M I+ EZHL TS,

GE)1. REDELICEWNT, TUh-K W DEEE AR (TR DNRIVBELGEWRICESEE
FERAL T ALY,

WAN35-907

(1/1



